

2.57  
21

$n=1$

$$\frac{1}{\sin 2x} = \cot x - \cot 2x = \frac{\cos x}{\sin x} - \frac{\cos 2x}{\sin 2x} = \frac{\sin 2x \cos x - \sin x \cos 2x}{\sin x \sin 2x} = \frac{\sin(2x-x)}{\sin x \sin 2x} = \frac{1}{\sin 2x}$$

$n=k+1$

$$\frac{1}{\sin 2x} + \dots + \frac{1}{\sin 2^k x} + \frac{1}{\sin 2^{k+1} x} \stackrel{?}{=} \cot x - \cot(2^{k+1} x)$$

$$\cot x - \cot 2^k x + \frac{1}{\sin 2^{k+1} x} \stackrel{?}{=} \cot x - \cot(2^{k+1} x)$$
$$-\cot 2^k x + \frac{1}{\sin 2^{k+1} x} \stackrel{?}{=} -\cot 2^{k+1} x$$

$$-\frac{\cos 2^k x}{\sin 2^k x} \stackrel{?}{=} \frac{-1 - \cos 2^{k+1} x}{\sin 2^{k+1} x} \stackrel{?}{=} \frac{-1 - (2\cos^2(2^k x) - 1)}{2\sin 2^k x \cos 2^k x}$$

$$\stackrel{?}{=} \frac{-1 - (2\cos^2(2^k x) - 1)}{2\sin(2^k x)\cos(2^k x)}$$

$$-\frac{2\cos^2(2^k x)}{2\sin(2^k x)\cos(2^k x)} = -\frac{\cos(2^k x)}{\sin(2^k x)} = -\cot(2^k x)$$